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And perhaps it is an Ohshom - N7 2WNR NADITY

Overview'
The x7n3x asks perhaps the found 11772 is an awR, so how can an 7191 and a 25w (and
a 77n) suffice. MooIN clarifies the question.

nvoIN asks:
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And if you will say; but let him stipulate in that cow that is for a 2smbw that if

necessary it should be an owx, for an owx and a 0»%w have the same nun®, so the
concern that it may be an awy can be addressed?!

nMooIN reacts to other possible reasons why he cannot use the 2°n%w for an awx:
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And if the concern is because of 712920, for a 2"m%w requires 77°%% and an awWN
does not require $739%9; this should not present a problem since $73°2% does not

prevent the 1277 from being valid. Therefore the lack of 7510 is no problem; he will not be J10.
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And if we are concerned about the different times allotted for eating the on%w and
awx, that is of no concern for this X1n maintains that ®105;7 n°a% 2" 2°8%an. The
question remains why cannot we stipulate that if it was a 0°n%W this should be a on%w, and if it
was an awX this should be an awx and it should be brought as a 1272 with the stringencies of both
an QWX (19X 1NNy 72°71 0% HoR1) and a 015w (71910 NYY).

!'See ‘Overview’ to the previous *nn7 7"7 'o1n.

2 He will stipulate on one of the cows that he brings, ‘if the found cow was a Dn>w, this should be a 25w in its stead,
and if it was an owX this should be an owX in its stead’, and then offer it on the 121 as a possible awx/am>w for they
have the same rule regarding the 07 minn; by both a 0%w and an owX it is ¥27X 77w Mina nw. See previous 71"7 '01N
*n»n7 footnote # 3.

3 1210 (or leaning) is where (by certain mi2p) the owner of the 127 places his hands on the head of the animal and
leans on it (the animal supports his entire weight).

4 One cannot make 7120 on this aWX Po0 7w 90, for perhaps it is an WX where 71210 is not required and by
performing 71510 he is 2*w7p2 wanwn which is forbidden. See ywii° °10 who finds this statement of M50I1n very puzzling,
for the 73w in 2,2% Minan states clearly, TOSTY WA 12277 1 VI 72790 PIVL T°1°7 MR 72, which means that an owx
is 712°10 1YY, See TIMHNA wOn XX # 88 onwards for various attempts to answer this question.

5 In a 127y where 772°10 is required, the 1277 is (nevertheless) valid even if 75°0 was not performed.

¢ A o°'nw may be eaten by anyone (except for the P11 7, which is eaten by the 0°373 [and o721 277121 o*wa)) for
MR 72991 0 '3; however an awR is only eaten (711773 1212 and only) for 77°1 or. Therefore here we will only be able
to eat this WK po0 07w 0 for 712°71 o1 (for perhaps it is an awR), and it may cause us to make some meat 1011 if left
over after this time, but perhaps it is a 2n%w (which can be eaten longer) and so we will cause 2°w7p to become 0.
7 See previous N7 1"7 'oin footnote # 6.
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N190IN answers:
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And one can say; that we cannot stipulate regarding an 2w by a ambw 129, for
a 2°»Y requires 2°591 and an 2wWNX does not require 29591 —

mooIn anticipates a difficulty with this answer:
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And we cannot say let him bring 0°201 and stipulate regarding the 25201, and he
should say, ‘if this 127 is replacing a @"»>w, fine the 0°501 will be offered as the
0°now °o01, and if this 727 is not replacing a 017w, but an owX, let these 0°501 be
donated 201 —

mooIn rejects this argument:
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For the obligated 2°s91 (which accompany a [22%w] 1277), and the donated
independent 29581 are not similar, for the obligatory 2°5%1 of wine are poured into
the beakers, and the voluntary 23521 are sprayed over the fire of the nam."

Summary
We cannot stipulate that it should be either a 2°n%w or an WX, since a D°12W requires

0°o01 (on the 0°990), and an owx does not require any 2°301 (and 17271 °201 one is 197
DR A"V, but not 2°9509).

Thinking it over

The law regarding 7217 °201 is that if they were not brought they are not 25y the
127713 So just like by 17270 we said that since it is not 20v» there is no problem,'
why do we not apply the same concept to 0°003; since they are not 22v7, they will
not be brought at all, but the 1277 will be valid?!!®

8 o*o01 (or libations) are the meal offerings and wine pouring that accompany every 72w and o7w. See (17w) 7272
X-3,70.

9 We cannot bring the onw pod owX poo, for what should we do regarding the @001 if it is a 27w it requires 2’202
and if it is an oWR there is no 0’501, Therefore we cannot mix an awX with a 2w even with a stipulation.

19 One may donate 0°201 to the 72t by themselves; not accompanied by a 12p.

' On the southwestern corner of the am there were hollow beakers into which the wine (of the 0°301) was poured.

12 Therefore we cannot bring the 0°301 for we would not know what to do with them, and since we cannot bring the
0°501, we cannot bring this 27w (po0), since it requires 0°7950 2"y 0°J01..

13 See 11" a"o M2 Awyn T aann.

14 See footnote # 5.

15 See 71707 *won X # 116.
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